Anita Wdovjak, OŠ Antuna Mihanovića, Nova Kapela
Marina Benakić, OŠ Ivana Gorana Kovačića, Staro Petrovo Selo
ODUZIMANJE (34 – 4)
1. Izračunaj.
68 – 8 = 		17 – 7 =		45 – 5 =		74 – 4 = 	

2. Izračunaj.
91 – ____ = 90	38 – ____ = 30	84 – ____ = 80	25 – ____ = 20

3. Ivan je za rođendan dobio 25 balona. U igri mu se probušilo 5 balona. Kolika balona sada ima Ivan?
Račun: _____________________________________________________________________
Odgovor: ___________________________________________________________________

4. Izračunaj.
48 – 8 =		72 – 2 =		59 – 9 =		23 – 3 = 

[bookmark: _GoBack]24 – 4 =		65 – 5 =		56 – 6 =		81 – 1 = 
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